Hokdpinge BK

Partavling HCP 2020-11-03

SCRATCH

Partavling, 4 bord, 8 par. Antal brickor: 28. Medel: 84.0.

Plac Par Poang % Namn MID Klubb

1 5 105.0 62.50 P-G Mattsson - Mats Larsson 54760 54759 Hokopinge BK

2 1 99.0 58.93 Goran Sjostrom - Gote Jonsson 28711 48786 HOkopinge BK

3 7 92.0 54.76  Lars Strand - Kjell Kumlien 30572 44832 Hokopinge BK

4 8 90.0 53.57  Karin Henborn - Sven Schén 15693 20156 Hokopinge BK

5 3 87.0 51.79  Sven Persson - Kjell Ahlberg 78393 47273 BK Sekvens, S-torp - H6kdpinge BK

6 6 78.0 46.43  Bjorn Lundin - Bertil Bengtsson 30590 39869 Hokopinge BK

7 4 77.0 45.83 Harry Feinberg - Harry Cronqvist 89682 33629 SK Hakoah BS - Hokdpinge BK

8 2 44.0 26.19 Tuve Sigurd Bergman - Ingegerd Dahlen 36945 36942 Hokopinge BK
1 Nord Ingen 2 OstNS 3 Syd OV 4 Vast Alla
Par Kontr Ut Res Poéang [Par Kontr Ut Res Poéang |Par Kontr Ut Res Poéang [Par Kontr Ut Res Poéang
42 44 N+1 ¥v3 450 4.020|7 3 4vV-2 4K 100 6.000(|81 1#V+4 &T -150 6.0 00(4 2 44 N+1 ¢2 650 5.0 1.0
65 44 N+1 ¢4 450 4.020(4 2 340+1 ¢J -170 3.030(4 2 2NV +3 44 -210 40 20|7 3 54 S= ¥4 650 5.0 1.0
73 44 N+1 ¢4 450 4.020(81 340+1 ¢J -170 3.030(6 5 3NO+2 6 -660 1.050(|8 1 44 N= 48 620 2.0 4.0
81 44 N= ¢4 420 0060(65 2NN-3 46 -300 006.0(7 3 3NV+2 48 -660 1050|65 5+ N-5 45 -500 0.0 6.0
5 Nord NS 6 Ost OV 7 Syd Alla 8 Vst Ingen
Par Kontr Ut Res Poang [Par Kontr Ut Res Poang [Par Kontr Ut Res Poang [Par Kontr Ut Res Poéang
82 INN+1 ¢A 120 6.00.0(53 INV+4 45 -210 6.000(1 4 4v N+2 #A 680 50 10|53 3NN+2 ¥5 460 6.0 0.0
14 2#V-1 vJ 50 4020|82 3NV= 44 -600 4020(8 2 4v N+2 #A 680 50 10(14 INN+4 ¥5 210 4.0 2.0
76 260 O+1 ¢3 -110 2040|1 4 3NO+1 48 -630 2.04.0(53 4v N+1 #K 650 1050|8 2 INN+3 ¥5 180 2.0 4.0
53 2NN-2 49 -200 006.0|76 3NV+2 44 -660 0.0 6.0(7 6 4v N+1 #A 650 1050|76 3#N+1 &2 130 0.0 6.0
9 Nord OV 10 Ost Alla 11 Syd Ingen 12 Vast NS
Par Kontr Ut Res Poéang [Par Kontr Ut Res Poang [Par Kontr Ut Res Poéang |Par Kontr Ut Res Poang
17 INO+4 43 -210 600.0(1 7 464 0O-3 #Q 300 6.000(17 3NV-1 &T 50 5010(64 4¢vV+l 5 -450 50 1.0
83 4vV+l 4A -650 4.020(8 3 340-1 ¥v8 100 4020(64 2NV-1 #8 50 5010|833 4vV+l ¢7 -450 5.0 1.0
25 3NO+2 ¢2 -660 1.050(6 4 34 O= 48 -140 2040(25 INO+2 46 -150 2.0 4.0|1 7 4v V+2 ¢7 -480 2.0 4.0
64 3NO+2 #5 -660 1.050|25 3NV= &2 -600 0.06.0(8 3 44DS-2¢K -300 0.06.0|25 4vV+3 &3 -510 0.0 6.0
13 Nord Alla 14 Ost Ingen 15 Syd NS 16 Vast OV
Par Kontr Ut Res Poang [Par Kontr Ut Res Poang [Par Kontr Ut Res Poang [Par Kontr Ut Res Poang
75 6N0O-2 #A 200 6.000(8 4 3NS+1 43 430 6.000(36 3NN+2 8 660 6.00.0(3 6 44 S+1 &2 450 50 1.0
84 44 O= #A -620 402021 3NN= +Q 400 2040(21 4vN= &6 620 3.030|75 44S+1 vK 450 50 1.0
36 3NO+1 #7 -630 2.040(3 6 3NN= v2 400 2040(84 4vN= &6 620 3.03.0(21 44S= vK 420 1.0 5.0
21 3NO+2 #7 -660 0.06.0(7 5 3NN= ¥2 400 2040|75 6vyN-2 42 -200 0.06.0|8 4 44 S= «vK 420 1.0 5.0
17 Nord Ingen 18 Ost NS 19 Syd OV 20 Vast Alla
Par Kontr Ut Res Poang [Par Kontr Ut Res Poang [Par Kontr Ut Res Poang [Par Kontr Ut Res Poéang
85 4vV= ¢A -420 6.000|3 2 3NV-1 45 50 600032 4vV= #4 -620 6.000|3 2 44S= &A 620 6.0 0.0
32 54DS-347 -500 3.030(16 24V+1l T -140 4020(1 6 4vV+2 &6 -680 2040|116 4#V-2 &A 200 4.0 20
47 54DS-3#8 -500 3.030(85 3vV+l T -170 2.04.0|4 7 4vV+2 v5 -680 2.040(4 7 34 S-1 #K -100 2.0 4.0
16 4¢vDO= ¢A -590 006047 34DN-54T -1400 0.0 6.0|85 4vV+2 ¢A -680 2040(85 54V= &«A -600 0.0 6.0
21 Nord NS 22 Ost OV 23 Syd Alla 24 Vast Ingen
Par Kontr Ut Res Poang |Par Kontr Ut Res Poang |Par Kontr Ut Res Poang |Par Kontr Ut Res Poang
43 3aN= &K 140 6.000(43 1#0= v6 -70 6.0 0.0|8 6 4v S+1 4A 650 6.0 0.0|51 56 O+2 vK -510 5.0 1.0
86 4¢V-1 4A 50 4020(51 INO= 3 -90 3.030(4 3 4vS= <vA 620 4020|86 540+2 8 -510 5.0 1.0
27 3¢V+l 4A -130 1.050(86 2#0= ¥8 90 3.030(27 3vS= «A 140 1.050|2 7 64 O+1 ¢8 -1010 1.0 5.0
51 4¢V= &K -130 1.050(27 2#40+1 ¢A -110 006.0|51 34 N= A 140 1050|4 3 64 O+1 &7 -1010 1.0 5.0
25 Nord OV 26 Ost Alla 27 Syd Ingen 28 Vast NS
Par Kontr Ut Res Poang [Par Kontr Ut Res Poang [Par Kontr Ut Res Poang [Par Kontr Ut Res Poéang
31 4 N+1 49 450 5010(87 3#V-2 ¢4 200 6.000(54 54 N= &5 450 6.000|54 3NS= 45 600 6.00.0
54 4y N+1 #9 450 501031 INO-1 8 100 4.020(3 1 44N= 3 420 4020|62 2¢ N= 48 90 4.0 20
62 1vN+3 44 170 2.040(6 2 INO= +8 90 2.0 40(6 2 3NN= &2 400 2040|31 3¢ N-1 T -100 1.0 5.0
87 3y N= vQ 140 006.0(54 24 O+1 ¢K -140 0.0 6.0(8 7 3NN-1 ¢9 -50 0.06.0(8 7 3NS-1 «Q -100 1.0 5.0
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